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Executive Summary

You have asked me to figure out which 0il and Gas Company
you should invest vyour money into. I looked into three
companies Shell, Exxon, and BP. Out of these three companies

you should invest your money into BP oil and gas.



Introduction

In this report there might be many terms and variables that
could be confusing. To start it off every company is given an
API #, an API # 1s a wvalue the distinctively identifies a
Well/Company. With oil everything is in BBLS. BBLS stands Dblue
barrels, which is the unit of measurement for oil production.
With Gas everything is in MCF, MCF is the unit of measurement
that is used for gas production.

Looking deeper into the report you might come across terms
in the forecasted wvalues table. First there is revenue, revenue
is the amount of money made with out taking out the direct or
taxes. Direct cost is the amount of money that the company has
to pay to produce either one BBLS or one MCF. Tax 1s money that
the government takes from the company. From the tax, revenue,
and cost the next wvalue that 1is found is the Net Cash Flow
(NCF), this wvalue is the amount of money that is made in future
years of the well. Then from the NCF the present value 1is
found, the present wvalue 1is the amount of money that the NCF
would be worth today taking out the interest rate. Interest
rate is a percent that raises the value of a dollar.

The perfect hyperbolic curve is a line that predicts how

0il or gas should be around when produced.



Methodology

The first equation that was used when we was the perfect
hyperbolic curve equation: gq =qgi * (1 + b * di * t)~(-1 / b).
The g stands for the perfect curve value, the gi is the starting
point, t is the time, b is the decline exponent, while di stands
for the initial decline. This equation was used to forecast the
values for future years of oil and gas production.

Then we found out the net cash flow and present value. To
do that we had to first find the revenue, to find that we took
the number of either BBLS or MCF produced and multiplied that by
how much it was sold for: revenue = BBLS/MCF * amount sold for.
Then we had to find the cost, we did that by taking the number
of BBLS or MCF produced and multiplied that by the cost for each
BBLS or MCF: cost = BBLS/MCF * cost to produce. Then we had to
find the tax that the government collects: tax = (revenue -
cost) * tax rate. After we found the revenue, cost, and tax we
could find the Net Cash Flow: NCF = revenue — cost — tax. Once
we had the NCF we could find the present value: pv = (NCF) / ((1
+ i)”n). The NCF is the net cash flow, i is the interest rate,
and n is the number of periods or the month.

After we found out both the NCF and the PV we took those values
and added them up to figure out how much total money they would

make for your company.



Results and Discussion

These tables are constant for all of the wells.

1st 2nd 3rd

Oil Price/BBLS $ 2940 | $ 2096 | $ 30.80

Direct Cost/BBLS $ 4351 % 435 | % 4.35
Tax Rate 48% 48% 48%
Interest Rate 1% 1% 1%
1st 2nd 3rd

Gas Price/MCF $ 6.67 | $ 679 | $ 6.99

Direct Cost/MCF $ 4351 $ 435 | $ 4.35
Tax Rate 48% 48% 48%
Interest Rate 1% 1% 1%

BP — API # 05123123590000

For the BP 0il well we took the forecasted values from the
perfect hyperbolic curve and forecasted out all of the Net cash
flow and the Present value. We found these values by taking the
number of BBLS or MCF that was produced and found out the
revenue, then cost, tax, and finally found the NCF and Present
Value. From these wvalues we found out how much money would be
made for the next three years. The present value tells you how
much you will make this current date, while the Net Cash Flow
tells you how much you will make over the next couple of years

with inflation.
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Shell — API # 5123111130000

For shell we used the same concept as 1in BP but with
different data. We again took the perfect hyperbolic curve and
the values from it to predict how much money would be made over
the next three years. We found these wvalues to be less than

that of BP, but ranked 2" overall.
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Exxon — API # 5123133540000

We then took the wvalues for Exxon and did the same that we
did with the other two wells. We found out that the wvalues for
the BP well were the highest out of all the wells. Exxon ranked

3% out of the three wells.
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Conclusion

You have hired me to figure out which well you should
invest your money in. I have taken the data that was presented
and forecasted out what each well would produce for the next
three years to see which company would produce the most amount
of Both gas and oil. I was able to come up with the conclusion
that your company should invest its money into the BP well.
This company showed that it produced the most amounts of oil and
gas for the next three vyears, which will cause for greater
profits for vyour company. Also the carts show the project

amounts that you will make.



